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062 2% (6,280,000¢ ) - 7|14 (5,580,0008) = 700
12,500 14,400 A1,900(03 E4YRUA|
O 37|YSASRH(GS0lst HRES)
24 (8,660,000 - 714 (10,560,000¥) = 21,900




(700) ArHHIE S - (710) SYHIE MigE o (751) gkl 2 : (200) 24| (The] : g
Il 2 =
g,gt” 142,673 205,473 262,800
E,E?é%%qﬂl 70,670 133,470 162,800
61,200 116,200 A55,000(01  ARRR2|H|
O Yetgd| 45,000
O RH|E Y& U IV[RYAAH A BSpE /5,000
0 2H|T Qzkanz 24 (0)- 713 (5000,000%) = A5,000
O SYUAIT EARHUAIRY HitgApR
H¥ (0)- 718 (20,000,0009) = 20,000
O SYRAEALEYE I 2 84 (0)- 714 (20,000,000%) = £20,000
O YHRIF SAPHEALY &2 A10,000
OYUMAIF ZAPHLALR B2 24 (0)- 713 (10,000,0008) = 10,000
9,470 17,270 A7,800|02  BaRGH|
0 3323 2 A A7,800
0O YAl Mtrz ez A% (0)- 714 (1,800,0008) = A1,800
© AL #7122 2% (0)- 714 (6,000,0008) = 6,000
%Ogom 27,265 47,920 A20,655
3502% 27,265 47,920 A20,655
0 1,000 A1,000(01 EAZ




(700) AIHIE g 1 (710) IRHIE Mg o (751) Ykl = 1 (303) Tz el
45 ey | B FLS R
M3t =2 Off Ak ot =39
O YRS B0zt ST QIHEE A1,000
0102 ol Z¥ (0 - 718 (1,0000008) = 41,000
27,265 46920 A19,655(02  AlatyoiE
ERCRE BH (27,264310) - 71 (46,920000) = A19,655
oliie 2,220 90,000| 87,780
AA— 2,220 90,000| 187,780
ol 2,220 90,000| 87,780
S E—— 2,220 90,000 187,780
2,220 90,000|  £87780[02  AlE-PAIWHLIIZARIBORA S
DAGNLZ IS O]t (RV|YS2=2 of|LhE)
ZH (2,219,170) - 714 (90,000,000) = A87,780




LI



_ = o . H|d (T2 @ 9)
B (200) A=ERE B (800) ol Mg (801) ol = . (801) o o
i = 7| A = e
= off & o AF o = 2 of & &
2| g |MIgh = C T ° T
200 7970197  6620832| 1,349,365
22222
800 1419,745 70,380  1,349.365
SIEIE]
801 1419745 70,380| 1,349,365
oflH|8|
801 1,419,745 70380| 1,349,365
OfjB[H|
1419,745 70,380|  1,349.365| 01 oijH|y|
2% (1419745000 ) - 713 (Ol|HlRt2] 70,380,0008) = 1,349,365




